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int c=0;

while (c<=5) {

cout<<c<<”\t”;
c++;
cout<<c<<"\n";

}
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[ n¥sl2 / #include<iostream.h>

4 void main () {

i=1 , Sum=0 int i=1, w=2, x=5,7;

X=W%1i;

if (x==2) x=x*(++1i);
switch (x) {
case 0: w++;
case 1: w++; ++x;
case 2: j=w+x,; i=i*3;
break;
@qusum/n case 3: w—-;

case 4: w--; ++j;
case 5: w--; i=i*4;

break;
@ default: w=w+5;

}
cout<<i<<"\£"<<I<<"\t"<<w<<"\t"<<x;
}
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int a=1;
while (a<3) {
cout<<"Hello Students..\n";
a++;
for(int i=1;i<=a;i++)
cout<<"This is C++ Final Exam.\t";
cout<<"\n";

}
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#include< .......... .h>
void main () {
.......... avg;
cout<<”Enter the average: “;
cin>>........ ;
if(avg .......... ) cout<<”Exellent”;
else ....( .......... et e e e e ) cout<<”V. Good”;
..... ...(avg >.....00)) cout. Ll Ll LV
..... cout<<”Fail”;
}
d>,020 b)) puad)

A8al) £ 5l ( aic 50 Legada negative gAY positive W) A1 (8 ghian (8 Clay C4 Aady gali S
delh & negative 4dgiuaall b Adll daeY) ¢l positive 48 shaall & L gall oY) (A9 Aad 50 JU &
gLl Gl i Al A ghiaal

2 (e 2 Aadia

2l (8 5 aanl B e | o ; = ;
43802 afallae /0 ¢ el St Jlf /1 a5l gl a2 /1 ¢ s S s /10 raalall s



